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Exam Style Questions
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Corbettmoiths

You may use tracing paper if needed

Ensure you have: Pencil, pen, ruler, protractor, pair of compasses and eraser

k.

Guidance

1. Read each guestion carefully before you begin answering it.

2. Don't spend too long on one question.
3. Attempt every question.

4. Check your answers seem right.

5. Always show your workings

P
Revision for this topic
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1. Evaluate the following

{a) VAxT7

(b) V24 < B J—-‘;- = a

(c) 2v3x 35 é'ﬁs‘

(d) 10vB = 242

2. Simplify (v3)?

a3 =09
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3. Work out the exact value of (v2)*

JI xGxlZ 25t = I

4. (a) Express+75 in its simplest form,

Jas xJ3 =

{b) Express+/32 in its simplest form,

Vindas = 42

(c) Express VBinits simplest form.

fox Jai= &

(d) Express+200 in its simplest form.

SToo xJ7 = 10J%
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5. Simplify fully

(a) V50 + V32 gﬁ + L',ﬁ
$oz Jisx J1 = SJz
NED PN TSN R A

b) vBO + /20 )
o= ii* Js 45
fo = Jox Js = aJ5
45 v 145 = bJS bJs
@
(c) 200 - /72
floo = Ju xJ2 = loJ
7a: S5 xJi= bJ
oi-tr NPy
@
(d) 312 + /75
WA = 3(Texdi) - (i) = 4S5
- Jas wJ3 = 53
s = AE
63 + 5J% ©
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6. Shown below is a rectangle.

BJ/2 cm
\ﬁ— J2 cm
SJ1

(a) Find the perimeter of the rectangle.

(b) Find the area of the rectangle.

sy xJ
= 5Jy = §X1

7. Write each of these in the form av3, where a is an integer.

(a) VBxB

M:MX.ES

(b) 27 + 75

Uzz © ﬁ*ﬁ < Sﬁ
\r';—;:ﬁf“.ﬁ =Sﬁ
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8. Rationalise the denominator of

15 £J3

75 %

Isls a5
)

9. Simplify fully vB00D + /24

J_~J—oxf— =10J¢
Jzu = JerJb - 1S4
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(a) Rationalise the denominator of

12«5

/3 1.]3
133
= = b

{b) Evaluate v2 x /32

n

(c) Expand l

g
s
/ + v’%+f*ﬁ’

3¢ fix +J5 £S5
{d) Evaluate (5 +v2)(5 - v2)

B-SJi¥ sy - Jb

25 - Jy

2-2 = A3
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11, (a) Simplify fully 3 (v27 —+3

JB
Q"'S:L L

L8

(b) Giventhat a=+2 b=+15 c=+40

work out the value of 'S
b9
T i oo

write your answer in its simplest form

V15 V11
V60 V4 T 2
..................... { 3}
12. Rationalise the denominator of
12 %[5 2o ';( = '-2-'%'5
773 43 #/9 5 2
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13. Giventhata=+3 and b=4+48

(a) find the value of a?

3
..................... .
(b) show that (a + b)? = 75
( JT:-\-JTF‘YJS PJ/‘"\
< 3y Sl Sl + U 26
S aaalieg T .

14.  Expand and simplify (3 +vB)(4 +/2)

Give your answer in the forma + b v2 where a and b are integers.

L +3J7 *;( W’i)+ JTh
Ly 352 + 4] +4

15.  Simplify 5VB + 18

S(‘Lﬁ\-l- 1y
loJ1 + 3J*
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16. HRationalise the denominator of

3 AJA
7o X I
[

’b

17.  Expand and simplify (7 — v3)

(53-53) -5
72_-Ju-Ju +3
Ju 10 — 24/21

18.  Wiite ¥11 +v89 in the form avb where a and b are integers.

Jn+ 30

@
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19. Expand (B - v3)? giving your answer in form a + b3

(6-§3)(¢-J3)
b - 4> - g3 + 3

b7 -1
(5 + 353) (5 39)
a+ 3m’r 3.’7[, v I8
2+ (320 (330473
A lapmr 3T %
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21.  The midpoints of the sides of a square of side 10cm are joined to form another
square. This process is then repeated to create the shaded square.

s C B
E

A

0
5
D 5

Find the area of the shaded square

10cm . [(B\* '564'
£r= (24 T,\

f\( *Ab EF*= 2"—4-_’2-'/0-0:&5
(ox. \._|_S 4 & &

(b -
E J/d X5 =358

)JE=c)=2 - ;f:’
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22. Given that
Tio f32x>ma+ Lo

where a and b are integer.

Find the values of a and b. _ l*
J ( 10 - 31) - \O‘E'__.JL
/T— -
\Oﬁ - g = Sﬁ’llf a=.. "u ..........
/7”_

23.  Ashed has dimensions, in metres, of

9
height = /5, width =J6 and length = —

Find the volume of the shed.
Give your answer in the form av15, where a is an integer.

\J"j’x‘ﬂ:)‘qfi
a _ Yo
Fra  UB. o

UWs....

@
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